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What caused the delay?
(AIHDENDEREETLH ?)

(A) Yes, it did. ({E\LY, €5 TV9)
(B) A traffic jam. (3ZiE¥ W CTI)
(C) They finished early. (S ITB<EZA XL T)
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Where is the accounting department?

(FFEEIFE ZTIhHY

(A) I'll wear a warm jacket.
(AW EEZERA IS CICLET)
(B) On the third floor. (3T IEfR)

(C) Probably at four o'clock. (&% 5 < 4BF(2)
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How much juice does the recipe call for?
(ZEDLEICIFENS BVWDEDY a—ADMETIHY)

(A) With a lot of fruit. (7c< SADRYZE>TTYI)
(B) About aliter. (1J v ;LK 5WTT IEf%)
(C) They're very careful. (R 5 IFIEFEICTFRARWVNTY)
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How far is the nearest train station from here?

1.1 like exercise. <=k > DT>

2.1 came here by train. <0 2 DM 7T >
3.A train station. < 0 2> DM T >
4.He prefers subways. <=2 2 DT>



